—_
—t
—

A
f

S F 4 1 1A

# o6 B B BT =



N

%#Fl

i

B
ap

f 4

ey

H

i

78

SR4FEERMLT—RREHETE (86 3)




= S = 1 O

HHLHI ISPy

T [T

BLPMYVEZIYE) NESOELHAEYEORTHANTBRI ORI 2YIARNTYROEROTHOELHEYE §
‘¢ bHE8SE V28 ‘913

WIUIHEUYV MR EWOELTHYE ‘MWEEZHE0Y L ‘680 "TUIUIHEVYEIARHOELTEYE ¥ T
(THOHELHEYEH)

YTV RCATAY R (H9H) HLTHESH—UTRIASVHS

(£ 9%) BLTHESH - LTHIZ Y HS

8 LHEEE



0LG‘LTE 000 ‘02 0L ‘162 HEW ¢
817 ‘€6 ‘C 000 ‘02 812 ‘216 ‘2 HEEIOWE 9
6.2 ‘GE9 ‘CT 0€6 ‘€0T 67€ ‘TEG ‘€1 EIHBK) ¢
6£6 ‘€21 ‘G 917 ‘283 €2L ‘198 ¥ EFEEE 1
9LL ‘¥2Z ‘s 9%1 ‘98¢ 0€9 ‘8£8 ‘72 HEHH ¥
€92 ‘61L ‘S¢ 765 ‘€89 691 ‘9€0 ‘G€ ETEEY ¢
H-£ 890 ‘758 ‘0T 3= 765 ‘€89 B $2¥ ‘0LT ‘01 HEHFH €
1£ g I B HEQIETTHY Er Y&
HOE
8G¢ ‘%28 ‘912 0¥/ ‘680 ‘1 819 ‘¥€L ‘G12 g 2=) b
620 ‘€LE ‘¥ £69 ‘T 9¢€ ‘126 ¥ YH P
712 ‘v60 ‘6 €69 ‘T 125 ‘260 ‘6 Y g 22
98% ‘160 ‘ST 000 ‘0L 98% ‘L20 ‘ST SYHITE 1
02 ‘221 ‘1 000 ‘0. 02 ‘250 ‘ST TV 07
¥GL 01T ‘L1 L¥0 ‘810 ‘T L0L ‘260 ‘91 THMEE T
- 9% ‘292 ‘89 4 270 ‘810 ‘T K- L0¥ ‘682 ‘L9 THxIE 91
2 B I By SAGYE N7 Hr &
N

(HESH—EMw) ToELETVE 21




85¢ ‘%28 ‘912

0¥L ‘680 ‘1

819 ‘¥EL ‘S12

d







